ES000 PRO
Tuned Propulsion System

ZhREMNNRSE

User Manual
=I=ES

2016.12




Disclaimer

Thank you for purchasing the E5000 Pro Tuned Propulsion System
(hereinafter referred to as “product”). Read this disclaimer carefully
before using this product. By using this product, you hereby agree
to this disclaimer and signify that you have read it fully. Please install
and use this product in strict accordance with the User Manual. SZ
DJI TECHNOLOGY CO., LTD. and its affiliated companies assume
no liability for damage(s) or injuries incurred directly or indirectly
from using, installing or refitting this product improperly, including
but not limited to using non-designated accessories.

DJI™ is a trademark of SZ DJI TECHNOLOGY CO., LTD.
(abbreviated as “DJI") and its affiliated companies. Names of
products, brands, etc., appearing in this manual are trademarks or
registered trademarks of their respective owner companies. This
product and manual are copyrighted by DJI with all rights reserved.
No part of this product or manual shall be reproduced in any form
without the prior written consent of or authorization from DJI.

This disclaimer is produced in various languages. In the event of
variance among different versions, the Chinese version shall prevail
when the product in question is purchased in China, and the English
version shall prevail when the product in question is purchased in
any other region

Legend

A Important

Warning

& When powered on, the motors and propellers will rotate
very quickly and can cause serious damage or injuries
if used improperly. Always maintain caution and make

safety your top priority.

[‘;‘gj The E5000 Pro generates powerful thrust. Be sure to
operate it with caution to avoid potential safety risks. DO
NOT use the E5000 Pro if you are not an experienced

user or you are under the age of 18.

1. The maximum allowable voltage of the E5000 Pro is 52.2 V.
Operate with care.

m
z



N3

n

Always fly your aircraft in areas free of people, animals,
power lines, and other obstacles.

3. DO NOT approach or touch the motors or propellers when
the unit is powered on.

Before takeoff, ensure that the propellers and motors are
installed correctly and the propellers are unfolded.

. Ensure that all parts of the aircraft are in good condition. DO NOT
fly with worn or damaged parts.

Ensure that all parts are firmly in place and all screws are
tight before each flight.

. Only use compatible, authorized DJI parts.

&

o

o

~

Introduction

The E5000 Pro Tuned Propulsion System is designed for
multirotor aircraft with a payload of 4.5 - 7.0 kg/rotor. The system
can be washed, making it ideal for industrial applications and
aerial imaging in demanding environments.

The brand new M10 motor features an integrated centrifugal
cooling system and annular array of cooling fins to enhance heat
dissipation. Reinforced blades and a perfected aerodynamic
design minimize rotational inertia on the foldable 28-inch Z-Blade
propellers to equip large platforms with sharp response.

The 1280X ESC uses FOC (Field-Oriented Control) algorithms
to allow for more motor responsiveness and precision control
Additional protection functions extend the life of the ESC. When
used with the DJI N3 or A3 flight controllers, the ESC data cable
handles communication with the flight controller and also acts
as a backup throttle signal transmission cable for increased
reliability and a safer flight

1. Parts

The Powertrain (CW or CCW, screws included), Smart ESC
Communication Cable and Updater can be purchased
separately on the DJI Online Store.

N N

Powertrain (CW) Powertrain (CCW)

4 © 2016 DJI All Rights




ﬁ 7 Screws
Arm Screws
(M4x14 Hex Socket)
Propeller Adapter Screws
(M3x 11 Hex Cap)

Smart ESC
Communication Cable Updater

Tools and Materials Required:

An hex key for arm screws (M4x14 hex socket), threadlocker,
screw, corresponding holding base and wrench, or rivet and
rivet gun for the mounting hole (@ 4mm), electric soldering iron
and soldering tin

2. Flight Controller Settings

The E5000 ESC features a DJI optimized FOC algorithm to offer
improved performance during rotor acceleration and deceleration.
The gain values and power bandwidth must be adjusted
according to your flight control system and airframe. The table
below shows typical parameters when using the E5000 Pro with
a DJI A3 flight control system, a six-rotor frame with a diagonal
distance of 1600 mm, and at a takeoff weight of 35 kg:

Basic Gain Sensitivity Gain
Power Bandwidth
Pitch | Roll | Yaw [Throttle | Brake [Atiitude
110% | 110% | 100% | 100% | 50% | 100% 80%

3. Mounting the Powertrains

A » Use a suitable airframe that can withstand the large thrust
delivered by the E5000 Propulsion System.

* The powertrains are compatible with frame arms with
an outer diameter of 30 mm. Mount the powertrains to
appropriate frame arms only.

« Identify the clockwise and counter-clockwise marks
on the propellers and mount the powertrains onto the
corresponding frame arms.

Mounting Hole (@ 4 mm)

Powertrain Arm

CW or CCW Mark
2
Propeller P

Motor
Built-in ESC

© 2016 DJI All R

N3



N3

—— Arm Screw Holes (M4)

— ESC Status Indicator

1) Pull the cables of the powertrain through the frame arm. Then
insert the frame arm into the powertrain arm.

Align the components so that the propeller is oriented upright
after assembly.

OPTIONAL: Use an appropriate screw and holding base or rivet
(for the reserved mounting hole @ 4mm) for securing the position
of the powertrain arm to achieve optimal performance.

Apply threadlocker to the two arm screw holes. Then insert and
tighten two screws (M4x14 hex socket).

n

&«

&

A « Ensure the screw is secured tightly for the threadlocker to
be effective.
« Ensure the threadlocker is completely dry and solid
before flight to prevent the powertrain coming loose.

4. Connecting the Cables

Power Cables
(Red, VCC; Black, GND)
Signal Cable

(To the flight controller)

Data Cable (For communication
& firmware update)

1) Solder the red VCC cable and black GND cable of each
powertrain to the frame’s power system. Make sure that the solder
points are strong and that there is no chance for a short circuit.

2) Connect the signal cable to your flight controller. The signal
cable’s red wire transmits the control signal; the black wire is
for ground.

3) When using the powertrain together with the DJI N3 or A3 flight
controller, connect the data cable to the IESC port on the flight
controller via the smart ESC communication cable for real-time
communication with the flight controller and redundant throttle
signal transmission. Arrange the cable properly if not used, so
that it will not interfere with other on-board devices.

6 © 2016 DJI All Rights



5. Using DJI Assistant 2

The DJI ASSISTANT™ 2 is used to update the ESC firmware.*
Be sure to remove the propellers before using DJI Assistant 2.

—

= -

Powertrain Updater Computer

Before using the Updater, unplug any other serial devices that are

connected to your computer, then follow the instructions below:

1) Download and install DJI Assistant 2 from the official DJI
website. (http://www.dji.com/e5000/info#downloads)

2) Connect the Updater to the powertrain with the data cable
and to your computer with a Micro USB cable.

3) Connect a 12S LiPo battery to the powertrain to supply power
to the system. Do not disconnect the powertrain from the
computer or power supply until the configuration is complete.

4)Launch DJI Assistant 2. When a connection is established,
the software will display the connected devices.

5) Click under “Connected Devices” to enter the firmware
update page. Check the current firmware version and ensure
the installed firmware is up to date. If not, login with your DJI
account and click the Upgrade button.

& If your ESC is not recognized by DJI Assistant 2 (no
connected devices):

 Check if there is more than one FTDI device connected
such as another DJI Updater, an FTDI USB adapter or
development board (e.g. a BeagleBone, Raspberry or
Arduino board). Unplug the other FTDI devices, restart
the ESC and DJI Assistant 2, and try again.

* Re-connect the ESC and the power supply in the
following order: Connect the ESC to your computer,
connect the power supply to the ESC, and then launch
DJI Assistant 2.

3% When using the ESC together with the DJI N3 or A3 flight
controller, connect the data cable to the iESC port on the
flight controller via the smart ESC communication cable to
update all the connected ESCs’ firmware together in the
flight controller page of DJI Assistant 2: Connect the flight
controller to DJI Assistant 2 -> N3 or A3 icon -> Firmware
Update -> ESC Firmware List.

© 2016 DJI All Rig

N3



N3

6. ESC Status Description

The 1280X smart ESC's protection and alarm functions prevent damage and extend its lifespan. ESCs status is displayed by the ESC Status

Indicator and notification sounds.

Status LED Sound ESC Output | Cause Resolution
6’ Slow Pulsing Green | J'1356 Normal System Ready /
Normal Operation Gr Solid Green / Normal Motor Started /
¥i Solid Yellow / Normal Motors are rotating at full throttle. /
. Motor phase break or abnormal connection with the
Open-circuit Protection (DRI ESC when powered on
Blinking Red, Yellow / Stop Mot ole short " £SC outout short Fix problem then restart ESC
i . and Green lotor cable short-circuiting, output short-
Short-circit Protection circuiting, or short-circuit inside the ESC.
Stall Protection 7 Blinking Red Rapidly / Stop Motor Stalled Fix problem then restart ESC.
Overheated Protection ®: Blinks Red Twice / Normal ESC internal temperature > 100°C. ESC internal temperature < 80°C.
The aircraft can fly with the
% Blinking Yell Main throttle signal lost during flight, i.e. the ESC backup throttle. However, it is
Throttle Backup* élow\m ing Yellow / Normal signal cable is disconnected. The system will recommended to land the aircraft
Y switch to backup throttle automatically. and re-connect the signal cable as
soon as possible.
1. L h ff I
1. Both the main throttle and backup throttle signal and the aireraft immediately and
. N re-connect the cables.
¥ Blinking Yellow were lost during flight, i.e. the ESC signal cable
Slow Beep | Stop 2. The system will not switch to
Slowly and data cable are disconnected. backup throttle. Re-connect the
Abnormal Throttle Warning 2. Main throttle signal lost before the motor started P .
signal cable.
7 Blinki Throttl t ller than 1120
(1 Blinking Yellow Single Beep | Stop Starting input signal is not at the minimum. rottle input is smaller than
Rapidly Us.
Double Starting input voltage is out of the range of the 1258
Abnormal Voltage Warning 1% Blinking Red and Beep Stop LiPo battery, i.e. input voltage > 52.2 V or input Adjust input voltage.
Yellow Alternately voltage < 43.2 V.
ow Voltage Warning lormal nput voltage lower than when operating ‘oltage higher than g
Low Vol W / N | I 1 I han 42 V wh Vol higher than 43.2 V.

* DJI N3 or A3 flight controller required

N3



N3

7. Specifications

Max Thrust
Recommended Battery
Recommended Takeoff Weight

Powertrain Cable Length

Compatible Frame Arm
Outer Diameter

Powertrain Weight (Single)
Operating Temperature
ESC

Max Allowable Voltage

Max Allowable Current
(Continuous)

Max Peak Current (< 3 sec)
PWM Input Signal Level
Operating Pulse Width
Signal Frequency

Battery

Motor

Stator Size

KV

Propeller

Diameter x Thread Pitch

Weight (Single Propeller)

14 kg/rotor (44.4 V, Sea Level)
12S LiPo
4.5 - 7.0 kg/rotor (Sea Level)

Power cables: 720 mm
Signal cable & data cable: 900 mm

30 mm

1.06 kg
14° t0 122° F (-10° to 50° C)
522V

80 A

120 A

3.3V /5V Compatible
1120 to 1920 ps

30 Hz to 500 Hz

128 LiPo

100 x 10 mm
120 rpm/V

28 x 8in (711 x 203 mm)
161g

Dimensions

84.3mi q |

2xM4

10 © 2016 DJI Al Rights

@107 mm




8. Performance and Parameters

Use the data below to facilitate the proper use of the propulsion
system.

A » Use the system at the recommended takeoff weight for
optimal performance.
« DO NOT overload the system. A takeoff weight more
than 1.2 times of the maximum recommended value will
severely compromise safety and performance.

E5000 Propulsion System Performance

Power Loading (g/W)

[ 2 4 6 8 10 12 14 16
Thrust (kg/rotor)

The data above was measured with an input voltage of 44.4 V, at a temperature
of 25°C and sea level. The thrust was adjusted by the throttle.

Max Thrust (kg/rotor)
15

0 40 a2 44 46 48 50 52 54
Input Voltage (V)
The data above was measured at full throttle, at a temperature of 25°C and sea level

© 2016 DJI All Rights Reserved. 11

N3



N3

1(A) P(W) n(%) T (kglrotor)
70

3500 100
/. 90
60 2 3000 14
n ; 80
50 2500 70 ®
10
W 2000 0
50 8
30 1500 40 .
30
20 1000 .
20
10 500 .
10 2
0 0 4
0 1000 1500 2000 2500 3000 3500 4000 4500

N (rpm)

| — Current, P — Input Power, n — Electrical Efficiency, T — Thrust,
N — Rotational Speed

The data above was measured with an input voltage of 44.4 V, at a temperature of
25°C and sea level. The rotational speed was adjusted by the throttle.

M10 Motor Performance

Performance Diagram

n(%) 1(A) PW) T(N-m)
100 500 3000 35
1 450

30
n 400 2500
25
350 2000
300 20
250 1500
200 1
150 1000 o
100
500
50 °
= 0 0 0
0 1000 2000 3000 4000 5000 6000
N (rpm)

n - Efficiency, | - Current, P — Output Power, T-Torque,

N — Rotational Speed

The data above contain theoretical values measured with an input voltage of
44.4 V, for reference only. When operating at a temperature of 25°C with no
additional cooling devices, the motor cannot operate with a current more than
70 A. It can support short term operation (about 10 to 30 sec) with a current
between 40 A and 70 A, and continuous operation with a current under 40 A,
The motor run time should depend on the actual environmental temperature
and cooling conditions.

Characteristic Parameters

Speed Constant 120 rpm/V
Back-Electromotive Force Constant* 0.0796 V-s/rad
Mechanical Time Constant 288 ms

12 © 2016 DJI All Rights

served



Motor Rotor Inertia 302 kg:mm?

Total Rotor Inertia (Propeller Included) 3408 kg-mm2
Torque Constant* 0.0790 N'm/A
Line-to-Line Inductance*™ 41-50 uH
Line-to-Line Resistance 60 mQ
Thermal Time Constant 600 s

* The Back-Electromotive Force Constant and Torque Constant may vary
when the motor current is strong. The values provided mainly apply to when
the motor current is under 20 A.

** The Line-to-Line Inductance was measured with a current frequency of 1 kHz
in an RLC circuit. It varies periodically as a function of the rotor position

9. FAQ

How do | replace the propeller blades or propeller adapters if
they are damaged?

1) Prepare two propeller blade screws (M6x22 hex cap),
four propeller adapter screws (M3x11 hex cap), and four
propeller washers.

2) Apply threadlocker to the screw holes on the motor and the
propeller adapter.

3) Assemble the propeller and tighten with two propeller blade
screws (M6x22 hex cap) so that the blades can fold smoothly.
Mount the propeller onto the motor and use four propeller
adapter screws (M3x11 hex cap) to secure the propeller.

Propeller Adapter Screws
Propeller Blade Screws (M3x11 Hex Cap)

(M6x22 Hex Cap)

Propeller Washers

A « Ensure the screw is secured tightly for the threadlocker
to be effective.
« Ensure the threadlocker is completely dry and solid before
flight to prevent the propeller from flying off the motor.

This content is subject to change. E E
1

Download the latest version from
http://www.dji.com/e5000

Copyright © 2016 DJI All Rights Reserved

N3



HO

REFH

RUSHETESE ES000 LALAR . TEEFZR, BFAEIEASRN, —BR,

BUHEAN ORI A PSR AR BATARTAIES . AT IR TF ML ERERE%
PR BFPAEER. iR, 2ok (RIEEMAE DI SEEAERME, W
EBAL. FBVE. HENERSE ) IEAIOMEIIRA, IR ASRERHEIRAS)
REXBASBRBEHIET.

DJI™ BRI ASEEIFRBRAT R EXR AR AL
FRER. @EE, WHERBASNEIREMER. ARRFER
FRY IR BRADRIAE . REFR], RELUEARR
SHIEED.

KT ENESRANREFRITRFEMMENESR , PEUPIRIAE,

HAhi X AR

FEiRA
/\ EmiwEnm

FREREESER

& HEATY, BIRIEENRITRITEST ASUF-ER™E
EMBUR. EUEERR, BSBERRE.

*1"83 E5000 RAURIIAEK, HBREENRZENKG, SRR
8. IFLWAFRRAH 18 ZALIEDER.

. E5000 EAlREAFERERIA 52.2 V, SVBTFHXLZENERT
BAE.

ERSTErZeEE, MEEY. B BEEE.
DN S EARESE ShROEBH SIARRER | B RARNELE PHOBERENS
EFRBMEIRIERIEBNREREIER, ITERRECRE.
FRARNBERESTHNHRETT .. WEIMEMIIRA, BELH
aBi.

BRETE, ME SRS EMRIRL R ENG.,

TEER DILRHROTEL S .

S

N o

& N

E5000 BAMHRE—FREIMAZ, 4.5 - 7.0 kg MSIERMARS, BEEITIL
RIFREUAR, SREFTHTIMMER . R8s, £ERFA

14 © 2016 KEECIH MIAE



oo, REFEERE. M10 BIES EARXBONSRS, Ba
FOREBEARED], SEIRFHOLIE ., Z-Blade 28 JITEERAH—
RREFILBOSRIT, MREHEEREFEI AR RIRIT RIS
1280X ESAEER SR FBRIAE4] (FOC, Field-Oriented Control ) &%,
SCUURE SRR B IR aNIR); ERNRIFThAE RIS eSS ; 15/ DJI
N3 F A3 ®iZHR%E, SERIMIREH LIS CRRISEREER &M ]
ESHYER .

1. XM &

E5000 LAMARAENFEAL (CW Bk CCW, [itiReE ) | EERRIFER
i, ARSIARMRTEE, BRISBIBE.

B8 (CW) AL (CCW)

R84
g ##2
HEEE
(M4x1
¢

EheiE FHfgR (M3x11, 4h7xfm)

BETRIME: ERTHEERRZ (M4x14, WH) MIRF, 8]
2255, BRTLREIL (D 4mm ) BRLL | REMWRIRFIETRIET
16, ERIEHANRS

2. ¥ESHIAT

E5000 w10 45FBIRA DJI (ifLhd FOC Eik, 12F T IAEERE . &
FBAD, APEZREMNERIOTRR UERABELETRES YR
HE. TERRES A3 CIRRAMEEN 1600 mm RIZSHIIRER, 2
TKEEH 36 kg AIHI—REIRISY

HEE REBE | e
i [ x| e | om0 [ pE [ 8 =

110% | 110% | 100% | 100% | 50% | 100% | 80%

© 2016 AFECUFT MRALTE 15

HO



HO

3. BENNEH

* E5000 IDRFHR AR, SOHEREFmERYIAEIDE
ESEORGHRMERFIITE .

* SNLAERATIME 30 mm BUBRE , B ERGINEIRE L.

* ZERR, EERXKDEIER FH CW sk CCW RS, BHZR
FIIRIAOMEBRE L

1) BEADSRMNEESIIRE, REEHERAERLH.
2) KRN AERRE, (RIEEREEN RGNS AIEIERAEIE
7.
3) ek JE LIRBLEI (Damm) , TIRIERSERAEIEMELR
PIASSRADETBUERRE, LARGRN DD BREEETAIN 64T o
4) ENBEEZLINBLAEMRLE, ARBAFHFERTNER
TR (M4x 14, RAFA) .
* WRITRIRLL  RLTNFTRER SEIRLKTE A2 TIREL .
» SRR TREWEHEHT T, BNTRESHENN
DEAEN, BNKTRS.

4. RiFER

Bk (4168, VCC;
26, GND)
By PWM (524
(EEE Y
EBIEARL
(BT EEREHFER )

16 © 2016 KEECIH KIAE




1) BRIREIREIENREBRAS L, TRIRREEF EA SIS
R B EIR VCC, 2&Jith GND,

HEERIE PWM (BKEIBH ) (FS&RIERE T, HhaedhiztliE
S, BB,

HIEFA DI N33k A3 Wia R4S, KRIBHIRLET DatREEER
BAERETEEAYESC 20, AJSLILS WERSTABERIEIE
SHRER . NMERNETRREMILF, BRI T,

n

)

5. {EF/ DJI Assistant 2

FBFENES DJI ASSISTANT™ 2 B2 U HHTRIBEIL TR * &. &
Z DJI Assistant 2 8, SUHBRIBIEREIRT .

=

k=124 FHEES THEH

fEFAFHREER, ERMRITEN ENEMRORE, ARRUTSEERE:

1) M DJI EA ML FEFFIZIT DIl Assistant 2 ZEEIERF | IRIBIRTRTEA

Wik, (http://www.dji.com/e5000/info#downloads)

IGRIBRMIRE AT R —IHA0ED, (658 Micro USB L EFHR

BEHEN,

8 128 LiPo BB AN EEBIEHE, R E5ARIE IR HoMT

FriERE .

4) 1547 DJI Assistant 2. RHRERREERRE, TRBIFSHRMHE
B EFRERBE.

5) smECEERETN @ EABUFARFE, EEEHRA. MER
S8 LMEMHRI T ELRIRA, A DU IKkSRIERERIKSE
F, SEANAHEERRIR T TR .

)

&’

# DJI Assistant 2 TTEIRBIFRIE (REREERRE) :

 BREITENREEES N AYEE FTDI USB iE838siEthr]
BEfEFEEI FTDIS HENFFA TE (BIEERRT: BeagleBone.
Raspberry. Arduino %) . 12, B FFED FTDI 8%, (VR
B— MR, AEEHORIEME, BERYY, BIRIREER.

© BEERARBUTINFHTERNME: BXBRREES
THEH, AERIENE, BSIE(T DJI Assistant 2.

% E(ER DJI N3 3 A3 TKis RS, KERiBURGIEI BaeBiRiEEE
kiR E e ESC B0, P YRFSRERNFRIEEE
EEHRENE: 1§ KREEZ DJI Assistant 2 -> N3 5 A3 ElfR -> [
TR -> ESC B4 .

© 2016 AFEEIFH WRAGAE 17

HO



HO

6. iR TIERSHIR

1280X EEERIBE S EMRIFRIRETIRE,

BIRDEIRIRIAR, SERKERSS . APREY IR T SRR E 1 BERA TIPS,

TR FETKT BRE BHIEEY | BENEE FRIRROSAT
B FITIFIRSR | ] 1356 % R /
ERTE B FIER / E% BHEE /
BITES / EH s /
WS IR | ) ERRTEBHVIELTEE . SRIEELRE
s LIEHAT / X EBRTEBHIBLIRES . ARSI, BIFNE |EEEEREE
TEINNR 2%
HERP ) LTXTHRIA) / XA R EERERRR
TRRE @) LTHTRUR / s FEIAREREERIE 100C FIAREREEET 80C
. R KT ERIIES, BERE PWM ESEE | EREMHIATUERVMTERE, BINEY
HiIE - &) EITIBIY / iz o _ o S .
U, BaRESEHH] FFPRREEFBEINERE PWM (554
1. TR R IR EDRIIYESR, BIBE
& BTN BB %8 PWM 5 S EASHIREIIHTFT " ﬁﬁm%ﬁégﬁg% O marie
iR 2. e R 2. IR AT E RN, [SEEL
) BRI BBB x4 FERRNHIAERIME SHITIREZ 1120 us AT
I bopn. |xp | CEUBARETE 2S@SEERTEOE | o
TR A, BIKTF 52.2VaEyhF 432V
IRFBERE / E# BT PMNBERT 42V BEIREZE 43.2V LIk

* TECA DJIN3 / A3 iz

HO



HO

7. MESY

RAHLS
jiizeshic)
HEREER
ENNRREARE

ERREIMZ
HOSRER
(BT EERE

i3

WASUFRE
BASUFERT (5548)
BARFEERR (37))
PWM BN SEF
TYERKES
RAEESIE

=)

=R

EFRY

KV &

IRHER

B x 1205

B (MR )

14 F55 /4 (44.4V, 8F@E)

12S LiPo

45-7.0F52 /¥ (i5F@E)

EBiFgE: 720 mm

{555 RAIEE: 900 mm

30 mm
1.06 kg
-10E50C

522V
80 A

120 A
33V/5VH#HE
1120 - 1920 ps
30 - 500 Hz
125 LiPo

100% 10 mm
120 rpm/V

711x203 mm (28 x 8 inch )

161g

R 3

843 mm\J |

20 © 2016 AFEGUFT KRAURE

@107 mm



8. EESH
IRIE MRS SR D RS

« BIEEER CER T T, LIRGHRENEE.
- BEPBE T, BCESBIRAMEFEN 1.2 FRERN
HREAR S .

E5000 shhRSEEAE

18 (gIW)

0 2 4 6 8 10 12 14 16
#14 (kglrotor)

LI EHERAMARE 44.4 V. EiR 26C. BFESENKET, THHITEA
VTSRS .

BA$IH (kglrotor)
15

0 40 a2 44 46 48 50 52 54
BARBEE (V)

LALESIEAZIR 25C . BFERENIMET, #iE), AHRARENS.

© 2016 A&

21

HO



HO

1(A) P(W) N(%) T (kglrotor)

70 3500 100
%0
60 3000 1
80
50 2500 79 =
10
40 2000 0
50 8
30 1500 40 .
30
20 1000 4
20
10 500
10 2
0 0

0
0 1000 1500 2000 2500 3000 3500 4000 4500
N (rpm)

I-FBfE, P-f@tHINER, n- EBIGER, T- A0, N- R

UL EEURINMARRE 444 V. ER 25T, EFEBENMET, TWHIIH
NFTIEEENIE

M10 EBHLiERE
AR
n (%) 1(A) PW) T(Nm)
100 500 3000 35
450
30
n 400 2500
\ 25
350 2000
300 20
250 1500
200 15
150 1000 o
100
500
50 °
0 0 0

o 1000 2000 3000 4000 5000 6000
N (rpm)

n- 395, -8R, P- MR, T-HAE, N-i86E

LUERIRIAMNSBIE 44.4 V BEIROIRIGE, (UiBE . =8 25T FEWNSH
HEERT, BIREY 70 AATRE TIEXEL, 40-70 A J95E8) (£910-30s)
TR, 40 A LU RRISETIFXIE . SCinERRT, SR T/ FRSRRETI
PRGBS TR .

BIEBE

IREEH 120 rpm/V
REBRNFEEL 0.0796 V-sfrad
HUASE) 2 288 ms

22 © 2016 K5E

3 WA



BIEFIEE 302 kg'mm?

HFIRE (%) 3408 kg-mm?

HIERE 0.0790 N-m/A

55220 41-50 pH

ZeraE 60 mQ

AR 600 s

" REBHAEMIHRIE RSB EBRRAN BTN, U LMEEEEHRT
20 ALIF IR

* LRFRRTEFRIAMEE 1 kHz B9 RLC RRERPIUG, EUERESEFU BRI .

9. BRI

WHAERIRIT IR K?
1) (EF 2 PRENHBLL (M X 22, HhNA) | 4 FRRsiRss (M3x 11,
Hh7AE ) N4 MEFERE R EIRRRRER
) ;ﬁ;&*DEEWLJ:ﬁEﬁ**‘?m?@!m@ﬁmﬁ?fiﬂxn
) RERMIRLL (M6 x 22, ShRA ) ERIMMEREE B, &
[EEE 4 FREIZe (M3 X 11, SNNA) FHTE.

Ediy: +72
(M6 x22, 4h7<f8)

A\ - BRITRIRL  RE T RS SHRLRE A2 TIREL .
© SRERLRTE TIREWEBIHT T, SNRRESEER.

AEINEE, SITIEH .

EEILUE DJI B MU EIRRHIRA (BFFM)
http://www.dji.com/e5000

- wiEE—a
Copyright © 2016 K3ZeIFT MIETE ¥E DI ARE

HO



Compliance Information
FCC Compliance

This device complies with Part 15 of the FCC Rules. Operation
is subject to the following two conditions: (1) This device may
not cause harmful interference, and (2) This device must accept
any interference received, including interference that may cause
undesired operation.

Any changes or modifications not expressly approved by the
party responsible for compliance could void the user’s authority
to operate the equipment.

EU Compliance Statement

SZ DJI TECHNOLOGY CO., LTD. hereby declares that this
device is in compliance with the essential requirements and
other relevant provisions of the EMC Directive.

A copy of the EU Declaration of Conformity is available online at
www.dji.com/euro-compliance

el

EU contact address: DJI GmbH, Industrie Strasse. 12, 97618,
Niederlauer, Germany



DJI Support
DJI ARz

www.dji.com/support



If you have any questions about this document, please

contact DJI by sending an email to DocSupport@dji.com.

WMREXSRABEEARIREN, BELATEF
HBFEIXZREA]: DocSupport@dji.com.

YC.BZ:S01385.01

Printed in China
hEEDH



